Name two secant segments.
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Are the secant segments equal in length? p\\ ),

SEGMENTS OF SECANTS AND TANGENTS
THEOREM

If a secant segment and a tangent segment
share an endpoint outside a circle, then the
product of the lengths of the secant segment
and its external segment equals the square of
the length of the tangent segment.
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Solve for x. Assume that lines which appear tangent are tangent.
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Find the measure of the line segment indicated. Assume that lines which appear tangent are
tangent.
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Solve for x. Assume that lines which appear tangent are tangent.
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Find the measure of the line segment indicated. Assume that lines which appear tangent are
tangent.
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